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M. A. (Part-I) Examination, November-2014 -
HOME SCIENCE (Paper - 1)
Research Method and Statistics (Old)
Sub. Code : 48907

Day and Date : Friday, 21- 11 - 2014 Total Marks : 80
Time : 10.30 a.m. to 1.30 p.m.

Instructions: 1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Draw necessary diagrams wherever necessary.
4)  Use calculator wherever necessary.

SECTION - 1
(Research Method)
01) Complete the sentence choosing correct alternative : [5]
a) Assumed sample selection is not considered in sampling
method.
1)  purposive i) systematic
i) quota iv) stratified
b) type of questionnaire is generally used in social science.
1) - Open i) Close
i) Non structured . iv) Self structured
c) Editiﬁg isa step in data processing.
i) First i) Second
iii) Third iv) Fourth

P2 EO.




d) __ isnota primary source of data.
i) Questionnaire ijy Observation
i) Interview iv) Report
€) ___are the inspiration to research.
i)  Hypotheses ii) References
iii) Case studies iv) Data
Q2) Write short note (any three) : [15]

a) Descﬁptive research

b) Importance of data collection
¢) Summery

d) Types of observation

e) SPSS

03) Answer the following questions in detail.
a) Explain the steps in research. [lo

OR
Describe the types of data source.

b) Explain characteristics of good questionnaire. [10]

OR
Write on - i) hypotheses ii) stratified sampling method




SECTION - II

(Statistics)
04) Complete the sentence by choosing correct altemative.\:t 7 [5]
a) is calculated by using — ;Ql
)  Quartile deviation i) Quartile standard
i) Quartile design iv) Quartile sampling
b) 'd'is a sign of
i)  Standard deviation ii) Mode
iii) Mean deviation iv) Quartile deviation
c) ForaBinomial distribution _ relation is true.
i) Mean= Variance ii) Meém > Variance
iii) Mean=S. D. iv) Mean < Variance
d) If the correlation coefficient 't' is — 0.6 then byx =-1.2 and bXy must be
i) .01 i) =02
i) 0.3 | v) 04
e) is a mean of 50, 57, 60, 62, 52 and 55.

H 26 _ i) 36

iy 46 V) 56



05) Write short note (any three) : : [15]
a) Significance of 't' test
b) Ogivecurve
¢) Scope of statistics
d) Standard deviation
¢) Cummulative frequency
06) Answer the following questions in detail : [10]
a) Define S. D. and C. V. Calculate S. D. for the following data,
X 2 4 6 8 10
liae 3 :: 15 10 5
OR
Explain any two absolute measures of dispersion.
b) Explain Law of probability with suitable example. [10]

OR
Calculate coefficient of variance by using following given data.

X :51,47,36,10, 58, 39, 44,22, 71 and 50.




.‘l
. A \SEis
WE TAR N immamy (28
A R el U P
£

o WY ST TR, =
SerlieRgieT 37 HqUi 01 geifemr.
anayae a9 e we.
srravas 8 et AT L
Fwmr-afgen
(dvitem weg)
Q. 51.1) =i e Frarw forem gt . 5]
@) T RaTgw e ... 1 Fare wegtdia feremm Seett s et
i) wEgs ii) cHEEaEE
iii) =ghee iv) wges®
....... TR TYATEe! STETRUTU! FTHTSTShYTETd STXett ST
i) e i) afe=m
iii) srERtm iv) W@
A2 Ufehadier HUTEH & ... TR TR
i) uieedt ii) g
iii) foed iv) el
............. 3 oA Tt E| AT
i) wyATEEd ii) fAfermor
iii) gered iv) orgETe
............. ¥ TN R TR
i) TEaes i) wEH
iii) =uEl rTTEA iv) wea




¥.2) o forgt (Fioraét @) : [15]
°1) auHTHe e
q) %A HehoudTd HEe
®) AW
g) fifeom R
3 W

11.3) wreliet e wieE I .
H) EVIYATH YrE=an T W, [10]
Tefan
FeATH Hiid YRR ITER FUH .
a) 39U TIATEE UILH g Wl [10]
ok
i) TRaEa i) argfewes T vegdt arer foren.

fawm-gEa
(dEaTIT=)
u.4) g vt faga fam gui = [5]
- —ﬂ—ngQl e =
i) wqums e ii) <IgUTeR SETOT
iil) g SRREST iv) iR T
e ooEm <= g o
i) i fEeew ii) =Ee®
iii) TeeAas iv) U feem
W) WA ST T e T HEY § AR,
i) W&" =dawEd ii) wea>awEad
iii) wea =uk. . iv) W < dwEd




%

s . K-44
¥) mmvwma osaﬁamﬁmm—-lzmﬁwaﬁqmm
T STETIE UTfest. B\ Ja
)& 0. i) 02 e O
i) 03 ¥ 04
3) 50,57, 60, 62, 52 fUr 55 A WA ........... IR,
026 ii) 36
iii) 46 iv) 56
9.5) fem foren (wivreardl ) [15]
A) & e seipin
q)  “Asieg wee
W) T SATH
g) e e
3) b arErdl
U.6) Wrefier Ty afere 3w forr. ' [10]
37) UH. 2. a9, =, sare gl Eeitel qeaun . SLEEl.
v w09 4 6 8 10
o Sl S
o
FIUTE S v TR A T WL
)  EWTEEaTEn FEW 9 ISTEEE T . [10]
feRen
Wreiiel AeATIH WEuTeh s et

w : 51,47, 36, 10, 58, 39, 44, 22, 71 stut 50.






